
Question #1

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 

4: 25%

5: 62.5%
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Question #2

4: 37.5%
5: 37.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #3

3: 25%

4: 12.5%
5: 50%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #4

3: 25%

4: 12.5%
5: 50%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #5

3: 12.5%

4: 25%

5: 37.5%

1: 12.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #6

2: 12.5%

4: 12.5%

5: 50%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #7

2: 12.5%

4: 25%

5: 37.5%
3: 12.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #8

4: 25%

5: 50%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #9

2: 12.5%

4: 12.5%5: 37.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #10

2: 12.5%

4: 12.5%

5: 37.5%

1: 12.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #11

2: 25%

5: 50%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #12

4: 12.5%

5: 62.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #13

4: 12.5%

5: 37.5%

3: 25%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #14

4: 12.5%5: 37.5%

2: 12.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 



Question #15

4: 12.5%

5: 62.5%

2: 12.5%

A scale of 1-5, where 1 being strongly disagree and 5 being strongly agree, is used for the 
following questions . 6 = Not Applicable. 


